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BEEEFNSIRA 3,000 3,000 0 3,000(|
SERA 0 710,000 710,000 0 710,000](
RBOELRLBEIA 280,000 280,000 0 280,000l
LEBEERBIA 100,000/ 100,000 0 100,000||
BHEERBIA 80,000 80,000 0 80,000
BAHEEREIA 250,000( 250,000 0 250,000](
EERA 0| 9,500,000 9,500,000 9,500,000|
JtiEEHEIEINA| 3,790,000| 2,789,000 6,579,000 711,000/ 711,000 7,290,000l
ftEELESSIY 350,000 800,000 0| 1,150,000 0 1,150,000]|
LRGEBIREIRA 1,500,000| 1,500,000 0 1,500,000l
FRHEIRA [ 160,000 1,050,000 1,210,000 0 1,210,000l
ZMET RorrEnpEsy) 250,000 250,000 0 250,000](
HEURA 0 0 20,000 20,000]|
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s 3,095,000 984,000 4,079,000 41,000 41,000 4,120,000||
RIS A% 600,000 600,000 0 600,000]|
EREXH 390,000 390,000 0 390,000]|
REXEE 90,000 2,101,000 2,191,000 10,000f  700,000| 710,000 2,901,000
BIEEWRE 262,000] 273,000 535,000 40,000 79,000] 119,000 654,000(|
HERE 155,000/ 305,000 460,000 41,500 41,500 501,500(|
WIS 50,000/ 400,000 450,000 15,000 15,000 465,000(|
RIINEHEAE 400,000 400,000 0 400,000(|
Al {50 2 0 0 ol|
- EEH 37,000 814,000 851,000 120,500 120,500 971,500]|
BmE 1,300,000 1,300,000 3,960,000 o[ 3,960,000 5,260,000||
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1 EBE 0 0 0 0 0 0 0] 1,666,600] 1,666,600
HHFES 490,400 490,400l
BHEEE 81,200 81,200
=2BE 20,000 20,000
RERBE 200,000{  200,000||
BISEWRE 65,000 65,000
HEMRE 20,000 20,000
fERR- N 550,000]  550,000||
B ANE 25,000 25,000
faiEg 155,000]  155,000]|
HEE 30,000 30,000|f
RRE 30,000 30,000]|
BELZRA| 7.989,600] 7,267,600 o] 15,257,200] 4,581,600] 1,568,600 6,150,200] 1,666,600] 23,074,000
M4 R AT S 1348 ] —3,849,600] —3,265,600] 3,260,000] -3,855,200( 4,918,400 -857,600] 4,060,800 -1,646,600] 1,441,000
EAUMEHISEE 0 0 ol
HEEEIALIRA 0 0 0l
SEAEmIE RS 0 0 0|
R R k= Erard 0 0 0l
B 0 0 0 0 0 0 0 0 ol
e ismaa| -3,849,600( -3,265,600] 3,260,000] -3,855200] 4,918,400] -857,600] 4,060,800 —1,646,600] —1,441,000]|
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BE S IR E 0 0 0 0 0 0 0 0 oll
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BENERE 0 0 0 0 0 0 0 0 off
LR R ot EAE 0 0 0 0 0 0 0 0 oll
stk 0 o 2459,200] 2,459,200 -2,459,200 -2,459,200 0 off
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